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Table I
2 alek4 A Z =& Az LR R %Ag_xi
(FAR/ AR | (FA/dR) | CRE/ARP) | s/ A2
1 185, 602 10,775 5.81 | 9,041 4.87| 10,883 15.86 {154,903 83.46| 88.60
2 309,122 22,652 7.33| 15,042 4.86| 21,396 6.92 250,032 80.88| 87.28
3 375,421 27,181 7.24 | 20,930 5.58 | 35,860 9.55 (291,450 77.63| 83.69
4 281,459 19,499 6.93 | 16,747 5.95| 21,192 7.53 |224,021 79.59| 85.52
5 275, 396 19,908 7.23 | 16,659 6.15| 22,529 8.18 {216,300 78.54 | 84.66
6 228, 868 16,510 7.21 | 15,842 6.92 | 18,640 8.14 {177,876 77.72| 83.76
7 270, 912 24,740 9.13 | 18,442 6.81| 22,648 8.36|205,082 75.70| 83.31
8 228, 400 23,733 10.39 | 19,090 8.36 | 18,840 8.27 |166,960 72.98| 81.58
9 216, 768 24,853 11.47 | 20,238 9.34 | 19,729 9.10 (151,948 70.10| 79.17
10 161,218 18,303 11.35| 14,174 8.79| 11,227 6.96|117,514 72.89| 82.73
11 121, 446 14,727 12.13| 8,710 7.17| 6,957 5.73| 91,052 74.97 | 85.32
12 81,846 6,543 7.99| 5,529 6.75| 5,073 6.20| 64,701 79.05| 85.92
A 2,736,458 |229,424 8.38 | 180,441 6.59 |215,024 7.86 111,569 77.16 | 82.26
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o - CrA/ges) | GAd/ar) | hga/daer) | (/) A
A 558, 652 35,113 6.29(24,794  4.44(35,307  6.32 463,348 82.94| 88.50
B 754, 154 66,401  8.80 35,057 4. 65|44 963 5.96| 607,753 80.59| 88.37
C 971, 308 95,878  9.87 (92,352  9.51;84,327  8.62|698,751 71.94| 79.82
D 340, 656 24,326 7.14|19,817  5.81|37,835 11.111258,678 75.94| 81.77
E 101, 788 7,706  7.57| 8411  8.26|13,402 12.81| 72,629 71.35| 77.20
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Table I
3 28 | 29 | 30 | 32 | 40 | 43 | 47 | 52 | 57 | 62 | 67
FH4%110.80 | 8.48 | 6.78 | 5.78 | 4.93 | 3.93 |3.25 | 3.20 | 3.50 | 4.60 | 6.18 | 7.45 | 9.70
45181 73.23 | 75.20 | 80.23 | 83.25 | 85.05 | 87.85 | 89.10 | 90.33 | 90.15 | 89. 05 |86. 05|83. 43 80. 08
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Table (NRC AlFHZ)
o4 a7 ekt a7 doks a7
ME (kcal/kg) 2850 ut a1 (%) ? FelAl (FE4R) (ng) ?
=kl 3 (%) 15 ulelw) B P(mg) 0.003
" obE o (%) 0.8 w] bl A (IU) 1,000 | =@ At 1.0
24l 2 4l ? » D(LC.V) 500 Ca (%) 2.75
=22 R2)] ? » E (1U) ? P (%) 0.6
ol&£F41(%) 0.5 »  K;{(mg) ? Na (%) 0.15
F 0 A%) 1.2 =zl o} =l(mg) 0.8 | K (%) ?
2l o] 4A1(%) 0.5 2] 2 F 2} (me) 3.8 | Mn(%) 33.
o el 2] (%) ©.28) 2t £ dl Al (mg) 10. I (me) 0.30
A 2 (%) 0.25 v} o] o} Al (mg) 10. Mg (mg) ?
=l el (%) ? o) 2 5 4 4.5 Fe (mg) ?
Bl 2 41(%) ? 8] 2 ¥ (mg) 0.15 Cu (mg) ?
E 2w (%) 0.4 = 2 (mg) ? Zn (mg) ?
ENE (%) 0.11 b (AEAAR) (mg)| 0.35 | Se(meg) ?
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